W= RULAY  #r =ranzs PRI e I MK

nimurA

SV2R NELH SV2F NEL-JO07—H szs BEET-EYISE

Bk 75 5% B K 75 5 5 K 5 %
7277k WP2T7IL WP2T7ILk
WELTZT 7Lk SIS S SEIIN
Yt DA -

Al Al

[N
C1 C1

Al
C1 -
BJ1 @] B1 @ B1 ;Jm_ﬂi
8 a '
- S 5
""“i’_ < J@ - ’
- 5 1 - 3IBE h 5 —
! SHR(CAER
| TU=Fv7
A3

07—
N v F

A

‘EH

ZH
——

sy
Wil
|

H
@
&)
S
©

SY2B TR SYp  gmamn | v
o - S PP Bl VUE - VPERADSAHERTT P

B7277)L bk W7 ZXT77)L b SV2F
WEH7 2T 7L WEHF 2T 7V
mo—h K

SV2F
> — PRI BFES

a-7-—
J BoOK

BokEm/
- BREN
B R

237avs )=} | oK
| XE

©a | —=! @
1 SV2S

sSv2s
> — FBEKE

vH
— |

TH
TH

R R
Blojold 36@Q TU—Fvo

277avs)—t HekE
| PEE

A3 A3 L AF YU

* A Z150ERELTHY Ft A Tv=727

WEpEERTR FR P
2% B & B " = AR | BE | ENIER T3
O) BN FC200 | wifgREs - 1 | @FKBOESIHEWMEEIFIHEBITEU, BT
® KERA FC200 | #ifERE%E - 1| @FRREEICEHERISENTBY A, IU-577/
@ | ARL—F— FC200 | #ifsfas — 1 .
@ | FSRARI(FAN) | C2700 — M6X 12 2 —
® 7h— SWRM — M6 3 s o
® RV~ C3602 - M8x40 | 3
@ | TI7ARIFN) C2700 — M6 X 12 3 L TRimEn.
RIL ~ C3602 — M8X30 | 3 (T5E2HI) SV2R 75 KHEN-
% T &l
5 H &
B~FE% (SV2R-SV2F-SV2S-SV2B-SV2P) (BRI mm)

i & (M) 118
SV2R SV2F SV2S SV2B SV2P | A#
50(204) | 160 | 45| 104 | 64| 147] 175 |112] 42 | 72| 6,100 | 5,800 | 5,800 | 5,800| 7,200 | 4
65(2'0%)| 195 | 61| 135 | 80| 179 | 175 | 127 | 42 | 72 6,700 | 6,300 | 6,300 6,300 7,800
753M0) | 195| 68| 135 | 93| 179 | 175 | 127 | 42 | 72 7,800| 7,400 | 7,400 | 7,400 | 8,900
100(4l) | 220 | 90| 161|118 |204| 190 |152| 47 [ 72 | 10,200 | 9,700 | 9,700 | 9,700 | 11,300
125(504) | 250 | 115|191 | 144 | 234 | 190 |177| 47 | 72 | 13,600 | 12,700 | 12,700 | 12,700 | 14,700
150(604) | 282 | 136|223 | 169 | 266 | 190 | 192 | 47 | 97 | 19,200 | 18,200 | 18,200 | 18,200 =

g4 | A1 | A3 | B1 | B2 | C1 H1 H2 | H3 | H4

ENINIFN NN N

19





